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PEHEBRRSE A
EAR ~ R A ERAER

hERBE10F1 8% BALHERT
&= H REFEBREAR (7 REHE
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| % X1z} %

HERE 54,935,000 - 33,000,000 -33,000,0000  100.00 ' 33,000,000 -33,000,000]  100.00

B R ARES TR 36,000,000 33,000,000 -33,000,0000  100.00 33,000,000 -33,000,000|  100.00

BRIRIBA 36,000,000 33,000,000 -33,000,0000  100.00 33,000,000 -33,000,000|  100.00
BAEEU A 60,000
FIRUA 60,000
BURF B AMA 18,875,000
INEEHERRA 11,125,000
B EAE AW - 1,750,000

HE&H®R 56,500,000 193,693 383,000 -189,307 49.43 193,693 383,000 -189,307 49.43

IR RS 56,500,000 193,693 383,000 -189,307 49.43 193,693 383,000 -189,307 49.43

EHAth 56,500,000 193,693 383,000 -189,307 49.43 193,693 383,000 -189,307 49.43

AR AR T AL -1,565,000 - -193,693 32,617,000 -32,810,693|  100.59 -193,693 32,617,000 -32,810,693|  100.59

AW SR 63,400,000 88,556,656 63,400,000 25,156,656 39.68

iGN
HAKEEREE 61,835,000 88,362,963 96,017,000 7,654,037 7.97
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HREMREREES

hEERE1108F1H31H B ERT
A g & % A H & K

HE 92,863,981  100.00| &f& 3,866,537 416

FEEE . 92,229,500 99.32| FBIAMHE 3,866,537 4.16

e 90,981,262 97.97|  FEfERE 3,866,537 4.16

ST ' 90,931,262 97.92 FE(IRE 3,866,537 416

3 F e i 50,000 0.05| ;&R 88,097,444 95.84

FEWRKIE 1,248,238 1.34| FEE ' 88,997,444 95.84

A EURK 1,248,238 134  PEE 88,997,444 95.84

EEEE 632,517 0.68 B 89,191,937 96.05

i 369,872 0.40 AHAE A ' -194,493 -0.21

] 1,468,809 1.58 |

REHTE — R R -1,098,937 -1.18
i R e 124,526 0.13
A R 377,125 0.41
REHITEE — B oA -252,599 -0.27
FETERS ' 138,119 0.15
FETHRR A 683,778 0.74
Rt T — HIER A -545,659 0.59
EEE 1,964 - 0.00




HETRREREEE

PERE110F1H31H

BArHERT
4 E| & H % Es B & #H %
mVEE 1,964 0.00
R 1,964 0.00
= E 92,863,981 100.00 = ] 92,863,981 100.00




